HENE

o L.
2022. 12. 26.
m 20239 HSYSE AR
O ZSAshd
2 s % g 2
ol | £ | Qo | 4 | Zof | ¥of | 23 | Al | sawa | Fof | £ | 2y | =of
10:30~
RO =0 Tl MAIAIA 0N -
14:00~ *x *x *x *x *x *x *x . *
15:00~ | x x *x *x *x *x == X x x
1550 | =23 | = = 1.2 =23 | = 123 | =3 | =B =
16:00~ S % * * =
16:50 12,3 =3 =12 | = 123
16:50~ _
HEAAL & 7R
O z=5H4
g 3 % E 2
AS AS A - H}O A A
gof | w8 | ol | w8 | Bof | o | w8 | A | L2 | 4 | o | 2E | =of
15:00~ = = = x = x
15:50 =4 x6 | x4 x4 %6 E
116é95()0” x4 | X5 | X4 | X6 | x5 | x4 | =5 5 | %6 | =4 | z6 | =5
. <
SHe
17.00~ | x * * * * x * * * x x
17:50~ [EPN|
18:10 MEAAL
1810~ | = — i ~ - -
1900 | = | =6 x5 | %6 %6 | %5

=> 20231 1% 2ULE MBBEO| AYE|U|, AP} A2, MG A YES A HECYLICE

25
=> 20231 1€8E ZEXSHAST MEOM A ANE 511, 9% 5A| 2020] IHELICH

m Hst = AA AR 2Y
1) 7|.7_F 20239 18 9%(&) ~ 2& 28 (=t 2) Hid - dY =AEE ™S Ok

)
3) Wt 2 S=0| LS A5 OIS 9lsh MEf= ©H 104 30256 HWBHICH SAl22 Azs ofse
12A1712] MEIO] Ot EAIS 25(0], HAS MBI o= OFES £OIAZF 102 27t MEfo] & 4
Q=S AT Setcct

m Yol He Mo

1) 7l 20238 18 1224(2) ~ 12 139UB) / 122(8) 2 104 HEPIN B2, 13UE) 2% A EA0
D) oY : 25 astd ol (2022 71F)

3) ZHI2 o0l 244, HRIET, O/ % 5

m P27 AHOorSHE] ATUES
2(

1) UA| 20239 1€ 179(2) 13:00 ~ 16'30 2) ThA} : 251~3, 24 2 ol BHAY
3) UE 3 oY|Ax L eliot & 4) 4 A2 0k

JRE7|HISE] ZAOLEHIE] (& 6738-6747)



